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1. Aparticle 4 of mass 3m and a particle B of mass m are moving along the same straight
line on a smooth horizontal surface. The particles are moving in opposite directions
towards each other when they collide directly.
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Immediately before the collision, the speed of 4 is ku and the speed of B is u.
Immediately after the collision, the speed of 4 is v and the speed of B is 2v.
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The magnitude of the impulse received by B in the collision is 5 mu.

(a) Find v in terms of « only.
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(b) Find the two possible values of .
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Question 1 continued

(Total for Question 1 is 8 marks)
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Figure 1
A van of mass 600kg is moving up a straight road which is inclined at an angle a to the
1
horizontal, where sina = I The van is towing a trailer of mass 150kg. The van is

attached to the trailer by a towbar which is parallel to the direction of motion of the van
and the trailer, as shown in Figure 1.

The resistance to the motion of the van from non-gravitational forces is modelled as a
constant force of magnitude 200 N.

The resistance to the motion of the trailer from non-gravitational forces is modelled as a
constant force of magnitude 100 N.

The towbar is modelled as a light rod.
The engine of the van is working at a constant rate of 12kW.

Find the tension in the towbar at the instant when the speed of the van is 9ms™
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Figure 2

A particle P of mass 0.5kg is moving in a straight line with speed 2.8 ms™ when it
receives an impulse of magnitude 3 N's.

The angle between the direction of motion of P immediately before receiving the
impulse and the line of action of the impulse is a, where tana = 4 , as shown
in Figure 2.

Find the speed of P immediately after receiving the impulse.
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Question 3 continued

(Total for Question 3 is 5 marks)
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Figure 3

Two smooth uniform spheres, 4 and B, have equal radii. The mass of 4 is 3m and the
mass of B is 4m. The spheres are moving on a smooth horizontal plane when they
collide obliquely. Immediately before they collide, 4 is moving with speed 3u at 30°
to the line of centres of the spheres and B is moving with speed 2u at 30° to the line of
centres of the spheres. The direction of motion of B is turned through an angle of 90°
by the collision, as shown in Figure 3.

(1) Find the size of the angle through which the direction of motion of 4 is turned as a
result of the collision.

(i1) Find, in terms of m and u, the magnitude of the impulse received by B in
the collision.
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Question 4 continued

(Total for Question 4 is 9 marks)




r

5.

Two particles, P and Q, are moving in opposite directions along the same straight line
on a smooth horizontal surface when they collide directly.

The mass of P is 3m and the mass of Q is 4m.

Immediately before the collision the speed of P is 2u and the speed of Q is u.

The coefficient of restitution between P and Q is e.

(a) Show that the speed of Q immediately after the collision is %(9e + 2)
(6)

After the collision with P, particle O collides directly with a fixed vertical wall and
rebounds. The wall is perpendicular to the direction of motion of Q.

. i 1
The coefficient of restitution between Q and the wall is —

(b) Find the complete range of possible values of e for which there is a second collision
between P and Q.
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Question 5 continued

XRXXKS

R o
2
SR

<5
SRS,
5
LRl
SO
PO 100

S
FIKL
Do%scenr 058
xms
X S

00
’%‘1
L% %
%

QO
o

<\
00

Soteontetetet
X PN
LGN

SR IELELILS

boses
XS
b9%es

K
S e o a e te e tatatstetatotetytatetese
0K .

0%}
dotodetetoteds

<

KA AR IIK KA
O

33
X5
3
55

%

0
potele!
foteses
55
55

o%
3%
bo%s

20%



XX
o%

> A
%qu%%hgaw L
CORRRRRAESIRR

et te et tetetetetetetets

i atetetotetotetotetototetotete!

ZRRLRLRRLRLRRLREE,

‘%
XS
%:}4{"0’

9%

CLT

5
S

i

)

.0

N
ot
%%

%%
e
"B
st
X,

oSe%

+96%%

S
i1
23

O
RRLRRIELS
SENOYKIL
PDON
‘DO:N
SIS

%@ﬁ?
4&}3&
RRKRS

QR
SORRREES
IRRRES
SRRLEKS
%5 %S
Satoseseses
SR

%%

qgg
% XX
o

%% 0902090000099 %%
e tatetetetesesasatototetetess
RITE

S
ROy
LIS
S S
SRR

OO
X
KEOYT<
RANNT B¢
RLRZRRLR

OO
KX
L0508
YO
R
s
oot

&
S

XX
o%!

R

X
S

%
38
r"(

O
g0
-
%

XX
0’:‘0
$96%%:%%
‘:0.0.:0

RELELKLS
S
2% 2
CRLLLLS %
0‘0 0‘0‘

XX
%!

XXX
CRXXKS
RS

QR
200050 %%

00.0 :.0 XX
R ORIR
QLRI
doototetotetotetoteds
oot otetetetese!
RLRLRRLKS

065
%
2%
5
d0%es
K

S
2L
XX
o2e%!

¥

02
o%
RS
=K
KRS

o2e%

7

Question 5 continued

(Total for Question 5 is 10 marks)




3m

Figure 4

Two blocks, 4 and B, of masses 2kg and 4 kg respectively are attached to the ends of a
light inextensible string.

Initially A4 is held on a fixed rough plane. The plane is inclined to horizontal ground at
3
an angle 6, where tanf = 2

The string passes over a small smooth light pulley P that is fixed at the top of the plane.
The part of the string from A to P is parallel to a line of greatest slope of the plane.

Block 4 is held on the plane with the distance AP greater than 3 m.
Block B hangs freely below P at a distance of 3 m above the ground, as shown in
Figure 4.

The coefficient of friction between A4 and the plane is u
Block 4 is released from rest with the string taut.
By modelling the blocks as particles,

(a) find the potential energy lost by the whole system as a result of B falling 3 m.
3)

Given that the speed of B at the instant it hits the ground is 4.5ms™" and ignoring
air resistance,

(b) use the work-energy principle to find the value of u
(6)

After B hits the ground, 4 continues to move up the plane but does not reach the pulley
in the subsequent motion.

Block 4 comes to instantaneous rest after moving a total distance of (3 + d)m from its
point of release.

Ignoring air resistance,

(c) use the work-energy principle to find the value of d
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r

7. A spring of natural length a has one end attached to a fixed point 4. The other end of
the spring is attached to a package P of mass m.
The package P is held at rest at the point B, which is vertically below 4 such that
AB =3a.
After being released from rest at B, the package P first comes to instantaneous rest at A.
Air resistance is modelled as being negligible.

By modelling the spring as being light and modelling P as a particle,

(a) show that the modulus of elasticity of the spring is 2mg

)
(b) (i) Show that P attains its maximum speed when the extension of the spring is > a
(i) Use the principle of conservation of mechanical energy to find the maximum
speed, giving your answer in terms of ¢ and g.
(6)
In reality, the spring is not light.
(c) State one way in which this would affect your energy equation in part (b).
ey
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Question 7 continued

(Total for Question 7 is 12 marks)
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Figure 5

Figure 5 represents the plan view of part of a smooth horizontal floor, where RS and ST

—> —>
are smooth fixed vertical walls. The vector RS is in the direction of i and the vector ST
is in the direction of (2i + j).

A small ball B is projected across the floor towards RS. Immediately before the impact
with RS, the velocity of B is (6i — 8j)ms™!. The ball bounces off RS and then hits ST.

The ball is modelled as a particle.
Given that the coefficient of restitution between B and RS is e,

(a) find the full range of possible values of e.

3)
. . 1 : o 1
It is now given that e = 2 and that the coefficient of restitution between B and ST is 5

(b) Find, in terms of i and j, the velocity of B immediately after its impact with S7.
(7)

p 7 2 0 9 2 R A 0 2 8 3 2

YISV SIHENEILIEM TON O VIdY SIHLNIEILIIM LONOG

YISV SIHLENEILIIM 1ON-OC



7

> %
0 ote ot totetoteotetoetetetete%
ZRLRRLRLRRLRLRRLRK

Y

AL
X
R

X
IR
IS
R

0% %
$%0%%
patesetetototeses
posete!
KK

AKX
0002000200202 %0 % %0 % %% :‘:

<X
5

RN

OO0
poRogelelelete
O
(LXK
SRR
LS,

%%

>

2
RS

<

58S

S
58

QR
pgeteteetete!
XX AN
%

.05
25

99200
RRKK

>

P505000%9
LR
]
ototese

<
% XX
RRRKX

%%
28
KX

X
535S
X8
CRLLKE

Question 8 continued

p 7 2 0 9 2 R A 0 2 9 3 2

29

Turn over »



7

Question 8 continued
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Question 8 continued

(Total for Question 8 is 10 marks)

TOTAL FOR PAPER IS 75 MARKS
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